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4.1 Writing Equations to Describe Patterns

Example (1): A landscape designer uses wooden boards as edging for the plots in g herb

ols

garden.
1plot 2 plots 3 plots 4 plots
The number of boards, b, is relafed to the number of plots, p.
This relationship can be represented indif ferent way:
» using pictures
s usingatable of values
e« using an equafion
Determine the pattern in the number of boards.
Number of | Number of {
rds
Plots, p Boards, & Th '“’_"Lbet D( boa ‘S
! * 33 ree S th v
2 4
3 10 23 P\U% one -
4 15 73

Stepl: Numerical Coefficient ) N cquals sign

3P Write an gxpression that represents the number of

boards for any number of plots p:
An eguationis: = \')
S*ep'z : CO‘\S‘QQ\\» Te"'v\ " il,eq“.!g s'.g -
Verify the equation by sUbstituting values of pand &
’3?"’ \ from the table.
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Example (2): Anairplane is cruising at a height of 10 000 m. Time Height
Tt descends o land. This table shows the height of (fminutes) | (hmefres)
The plane every minute after it began its descent. {1} 1;}}?&? ‘) - 3w
The height of the plane changes at a constant rate. > 5300 ") -300
3 g0 D-380
4 8800 P-300
a) Writean expression for the height in terms of the time since the plane began its descent. r
=300t +10000 numerical

o+ 10 000-300t

b) Writean equation that relates the height of the plane to the time since it began its descent.

10000-300¢ =\

c) Whatisthe height of the
plane after 15 minutes?

t=\%
\0000 '3001'_ '.\'\

10000 -200(15) =\
\ODOO - L\SOO = h

h=0

"0000

—

300

d) How long after beginning
ifs descent does the plane land?

10 000~ 300t =
(0000~ S0t =

0]

~]o vbo

-300t = =1000
3300

= 33.3m
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Example (3): The cost of a taxi ride is the sum of a fixed cost of $2.50, plus $1.75 foreach
kilometer.

a) Write an EQUATION that relates the cost of a taxi ride, Fdollars, to the distance travelled.

E =1.35n + &.90

b) Determine the cost of a 28-km taxi ride. c) If the cost of the taxiride

n s a g was$28.75, how many

kilometers was the taxi ride?

= 135h+950 P85
*1.35(ag) 1250 F=].1on +2é5§0
194 3.50 9835 = 1350 T 0%

-§ -250 )
2150 2.95=135n
S \.3§
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